Regster x | Register
[DMa - |sPit -
[[ ISR = 0=00000770 CCR3 |Ecr1 = 0=00002040 SR
[H IFCR = WUTYYYY PSIZE = 0zl /|- BIDIMODE = 0 HODF =10
[FCCR1 = 0x00000000 HSIZE = 0=zl - BIDIOE =0 O¥VR =0
[[ICNDTR1 = 0=00000000 PL = =3 [F CrRCER =1 ] BSY =0
[FICPAR1 = 0=z00000000 HEMZHMEH = 0 ([1F = TIFRFE = 0
FICHARL = 0z00000000 =[x — DFF =0 FRLVL = 0x=0
[ICCR2 = 0x00003081 DT = U=0000 ~ REONLY =10 FTLVL = Oxl
— EN i | [ECPAR3 = 0=4001300C ~ SSM =10 EHDR = 0=z00000000
— TCIE =0 [ CHAR3 = 0x20000000 — SSI =0 [£|CRCPR = 0x00000107
— HTIE =10 FCCR4 = 0z00000000 — LSBFIRST = 0 RXCRCR = 0x00000000
— TEIE =0 [HCHDTR4 = 0x00000000 — SPE =1 = Ux
— DIR =0 [FCPAR4 = 0=00000000 || BR = 0z=0 ETXCRCR = 0x0000004E
— CIRC =10 [HCHAR4 = 0x00000000 — MSTR =D HI2SCFGR = 0=00000000
— PINC == [HCCRS = 0=00000000 — CPOL i 1] EHI125PR = 0x00000002
— HINC =1 EHCHDTRS = 0=z00000000 ||~ CPHA =10
- PSIZE = =i FICPARS = 0=00000000 |EICR2 = 0x=00001703
— MSIZE = 0=0 FICHARS = 0=00000000 — REDMAEN = 1
- PL = 0=3 FICCR6 = 0x=00000000 — TEDMAEN = 1
— MEMZMEN = 10 FHCHDTR6 = 0=00000000 /|- SSOE =10
W EHCPARG = 0x00000000 ||~ HSSP =0
= O=0000 BICHARG = 0=00000000 — FRF =10

CPAR2 = 0x4001300C ECCR? = 0x=00000000 —~ ERRIE =0

Pi = 0=4001300C EICNDTR? = 0x=00000000 — RINEIE = 0

CHAR2 = O0x2000000F HCPAR7 = 0=00000000 || TEEIE =0

Ha = 0z2000000F [ECHAR7? = O0=z00000000 ~ DS = 0x7?
[JCCR3 = 0x00003091 |- FRETH =1
— EN =1 || LDMA_RX =10
— TCIE =0 — LDMA TX =10
— HTIE =ii.0 [-ISR = D=00000800
— TEIE =10 ~ REINE =0
— DIR =1 — TXE ==
— CIRC =0 — CHSIDE = 0
— PIHC =0 — UDR =0
— MINC =1 - CRCERR = 0 ] ok

Lohick 1o ecit>

= Expression Walue Location / Twpe
=  aryRovBul carray»"" Dxz2000000 unsigned char[10]
- (0] ' (0x81) 0x2000 C unsigned char
- [11 L (0=0D2) 0x=20p0d0000D unsigned char
- [21 *~0"' (0x00) 1] QOOO0DE unsigned char
—_ [3] *~0' (0x00) ®2000000F unsigned char
- [4 *~0"' (0x00) 0x20000010 unsgigned char
| [5] *~0"' {(0x00) Ox20000011 unsigned char
‘unsigned char
— 7] "~0" (0x00) 0x20000013 unsigned char
= [8] *~0"' (0x00) 0x=20000014 unsgigned char
e [9] ~0' (0=00) 0x20000015 unsigned char
#  Register_Base <array>" 4" 0x20000000 unsigned char[9]



Register

v sP1 -
= Dx00000770 [1CCR3 FIcRr1 = 0x00002040 [ISR
= YWWWEIIY PSIZE = 0x0 | BIDIMODE = 0 HODF =10
= 0x00000000 MSIZE = 0x0 | BIDIOE = 0 OVR =10
= 000000000 PL = 0x3 | E_CRCER =1 ] BSY =0
= 0x00000000 HEM2HEN = 0 || CRCHEXT = 0 TIFRFE = 0
= 0x00000000 = Ox |F pFF =0 FRLVL = 0x0
= 0x00003081 DT = 0=0000 ||~ REONLY = 0 FTLVL = 0xl
=1 ECPAR3 = 0x4001300C | ssu =0 EDR = 0x00000000
=0 ECHAR3 = 0x20000000 ||k ss1 =0 CRCPR = 0=00000107
=0 ECCR4 = 0x00000000 | LSBFIRST = 0 RICRCR = 0=000000DB
=0 ECHNDTR4 = 0x00000000 |- sPE =1 T R=CRC = 0=00DE
=0 ECPAR4 = 0x00000000 |F BR = 0x0 ETICRCR = 0=0000004B
=0 [ECHARA = 0x00000000 |- HSTR =10 EI2SCFGR = 0=00000000
=0 ECCRS = 0x00000000 |k croL =0 EI2SPR = 0x00000002
=1 ECHDTRS = 0x00000000 |- cpHA =0
= 0x0 ECPARS = 0x00000000 EICR2 = 0x00001703
= 0x0 EICHARS = 0x00000000 |F rEDMAEN = 1
= Dx3 ECCR6 = 0x00000000 |- TEDMAEN = 1
=0 BECHDTR6 = 0x00000000 || SSOE =
= 0=00000000 | [EICPARG = 0xz00000000 |k wssp =0
= 0x0000 HCHARG = 0x00000000 = FRF =1
= Dz4001300C HCCR? = 0x00000000 | ERRIE =0
= 0x4001300C ECHDTR? = 0x00000000 ! — RENEIE =0
= 0x2000000F BECPAR7 = 0x00000000 |k TXEIE =0
= 0xZ000000F FECHAR? = 0x00000000 i ~ DS = 07
= 0x00003091 | FRXTH =1
=1 e IDHA RX =10
0 _ IDMA_TX =0
=0 ISR = (0x00000800
=0 | RENE =0
=1 |- TEE =0
R | CHSIDE = 0
e =9 il— oo | Should be a CRC Error
[ here.
Expression “Walue Location Type
= aryRowvBuf carrayvr=" Dx=20000000C unsigned char[10]
P [oq 'Y (OxB81) Ox2000004 unsighed char
.. ] ‘Lt (0m02) Dx200@d00D unsigned char
- 2 ‘\O0' (0=00) 0x2000000E unsigned char
----- 3] ~0"' (0=00}) Ox2000000F unsighed char
— [4] '0" (0=00) Dz20000010 unsigned char
L ~0" Q=00 ) 020000011

----- (7]
— I8

i

* Register_Base
cclick o adity>

‘E* {(0x45%
0" (0=00}
'~0" {(0=x00)
~0' (0=00)

farrays»" - H"

D=20000012
020000013
O=20000014
O0=20000015
020000000

unﬁiE ned char

unsigned char
unsigned char
unsigned char
unsighed char[9]



